Ex 1 A 30cm by 50cm picture has a frame surrounding it. If the frame is the same width all around, and the
total area of the frame and picture is 1836 cm?, how wide is the frame?
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2 The sum of a number and three times its reciprocal is ?. What is the number? —_—
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r. Raoul bikes to work, while Ms. Anderson drives to work, but they both live ﬂkmmyfrumthe
ool. If they both leave at the same time, Ms. Anderson gets to school 12 minutes before Mr. Raoul. If Ms. g 3 ,.?)

Anderson drives 15km/h faster than Mr. Raoul can bike, what is the speed of each of them (answer to 1
decimal place)?
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Ex 4 Mr. G and Mrs. Holman are marking PC 11 exams. Mrs. Holman can mark a class set of exams 10 minutes
faster than Mr. G can. If they both work together, they can mark a class set in 1 hour. How long does it take
each of them to mark a class set of exams (answer to the nearest minute)? w1
Lt to perse | Clas S Rate = Fue f %%f‘/m@,
[ clacs _ T
—;u?.u___"‘_ + 7 Lﬂ’?fxn'm
flr. H 10 win { coss . L
___________‘f_c"l"ﬂﬂﬂ *® Fi 2 | i
\cmm Loy L= ldess
e —— = -
{Louw égﬂ;ff}q



Lo- (10 x)-{é)x@—@)@

407‘ —Lay +fox = xT- [0x
O = x> ~10x -L0Ox - 0x + {0
O= x'-12x +boO

a~ | () + (30} — (1) ées)
. }C: 4 7 « | ! 1
23)

_ 120t {Te00 -z400

(mz?zé Mr.G =

iVt Win m;; H =) J?S’fﬁf@



